[> restart;
> fun := hypergeom([1/4,5/4],[2],1-v"2)"2;
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> deq := gfun:-holexprtodiffeq(fun, y(v));
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fun = hypergeom(

B deq2 := collect(subs(v=u, eval(subs(y(v)=diff(y(v),v), deq))),

diff, factor);
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> ini = {y(0)=0, seq((D@@(|+1))(y)(1/2) simplify(eval(diff(fun,
[v$i]),v= 1/2)) i=0..2)};
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> sol := (rhs(dsolve({deqg2} union ini))):

> fsol := evalf(sol);

fool = (2.666666444 — 2.050497521 107 I) hypergeom([0.5000000000, 0.5000000000,
2.50000000071, [1.,2.], -1. (u — 1) (u+1.)) u+ (-7.439281853 10"
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[> mysol := (8/3)*u*hypergeom([1/2,1/2,5/2],[1,2],1-u”2);
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> ref:=Int(fun,v=0..u);
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> identify(evalf[30](subs(u=1/4, mysol-ref)));
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[> mysol := -32/(9*Pi) + (8/3)*u*hypergeom([1/2,1/2,5/2],[1,2],1-
un2);
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B evalf(subs(u=1/4, mysol-ref))
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[> evalf(subs(u=17/53, mysol-ref));
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[> simplify(eval(deq2y=unapply(mysol,u)));
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[> MultiSeries:-series(mysol, u=1);
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[> MultiSeries:-series(ref, u=1);
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